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INTEGRALS OF SOME SPECIAL FORM OF FUNCTIONS

1. Integrate : /sin5 xdx

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_R7apsSxh5lgV

1. Evaluate : /cos3 2zxdx

o Watch Video Solution

1. Integrate : /sin4 xdz

o Watch Video Solution

Example 4

Vsinz
1. Integrate : / —dz

Cos2 T

° Watch Video Solution



https://dl.doubtnut.com/l/_HU6USoKLMwhp
https://dl.doubtnut.com/l/_UvYIobUFhqNO
https://dl.doubtnut.com/l/_gtqIz5T71UAf

Example 7

1. Integrate : /sec6 xdx

o Watch Video Solution

Example 8

1. Evaluate : /:osec4:vdsc

° Watch Video Solution

Example 9

1. Integrate : /sec5 xdz

o Watch Video Solution



https://dl.doubtnut.com/l/_M0GRKSIZI8Rw
https://dl.doubtnut.com/l/_cc7CgcnJbvYF
https://dl.doubtnut.com/l/_QJMClOcyEVCv

Example 10

1. /cos ectzdx

o Watch Video Solution

dx

1.Int te: [—
ntegrate /4—|—5cosa:

o Watch Video Solution

dx
1.Evaluate: [——M—
4 + 5sin’ x



https://dl.doubtnut.com/l/_QJMClOcyEVCv
https://dl.doubtnut.com/l/_NqczbahX4055
https://dl.doubtnut.com/l/_uSgP2i4u7r0f
https://dl.doubtnut.com/l/_XUN7XzelrUJT

| o Watch Video Solution

dx

1. Integrate:
8 /3sina:—4cosac

o Watch Video Solution

Example 14
sinz

1.Integrate:/, dz
sinx — cosz

o Watch Video Solution



https://dl.doubtnut.com/l/_XUN7XzelrUJT
https://dl.doubtnut.com/l/_htlGG5AS8K6h
https://dl.doubtnut.com/l/_sQunzouzZDGd

cosx + 3sinx
1. Evaluate : , dx
3cosx + 2sinx

o Watch Video Solution

Example 16

23 9
1.Integrate:[2w rY dz

2 +4x — 5

o Watch Video Solution

Example 17

2 3
1. Example: / T dx
x

2 4 g2 - 2¢

o Watch Video Solution



https://dl.doubtnut.com/l/_DwwZC5m1O4oa
https://dl.doubtnut.com/l/_ikYBSsEPCAbc
https://dl.doubtnut.com/l/_3PLCmFuay1SG

Example 18

3

1.Integrate:/(w "z —2)(z — 3) dx

° Watch Video Solution

Example 19

1.Integrate:/ 5 dx
(z 4+ 1)"(2z — 1)

52 + 1

o Watch Video Solution

Example 20

1. Eval t/ dz
.Evaluate: [ ——
x2y/z +1

| ° Watch Video Solution


https://dl.doubtnut.com/l/_Cbt945zVU9D8
https://dl.doubtnut.com/l/_iN0HsjW4r49P
https://dl.doubtnut.com/l/_CwzdVUhJYzNa

1. Int t /dm
.Integrate :
& 1+ 23

o Watch Video Solution

lilustrative Examples

1. Integrate : (i) /sin3 x cos® zdz

o Watch Video Solution

2. Integrate: /cos3 z sin? zda

° Watch Video Solution



https://dl.doubtnut.com/l/_CwzdVUhJYzNa
https://dl.doubtnut.com/l/_zKTVP1QuAQDF
https://dl.doubtnut.com/l/_K8BIopbsLC2i
https://dl.doubtnut.com/l/_SHkkxTEpqi01

3. Integrate: /sin2 x cos® zdx

o Watch Video Solution

dx

4. Evaluate :
vatate /cos(a: — a)cos(z — b)

° Watch Video Solution

z —1)(xz —m)
5. Evaluate :/((:1: Y P— dx

o Watch Video Solution

2

T
6. Integrate: dx
& /2:1:4 — Tx?2 — 14

o Watch Video Solution



https://dl.doubtnut.com/l/_auVS48MjuAPS
https://dl.doubtnut.com/l/_GKzZgNdeU1aF
https://dl.doubtnut.com/l/_yw242xcAMMHw
https://dl.doubtnut.com/l/_jetFQ1h79zIa
https://dl.doubtnut.com/l/_ZNYsnkaAPPyS

3
7. Evaluate :/ dzx
x4+ 12— 12

° Watch Video Solution

x2dx
8. Evaluate :
% — 6x3 + 5

o Watch Video Solution

4
9, Evaluate:/w +1 dx
x6 +1

o Watch Video Solution

sin zdzx

10. Evaluate: / 3
sin®  + cos® x

° Watch Video Solution



https://dl.doubtnut.com/l/_ZNYsnkaAPPyS
https://dl.doubtnut.com/l/_R2P5yLVo9ZFM
https://dl.doubtnut.com/l/_bY5TjXSyrwFE
https://dl.doubtnut.com/l/_w0DvA3xgaWPq

Mcq

1. To evaluate /sin5 xdx we put -

A.sinx=z
B.cosx=z
C.tanx=z

D.tan’z = 2

Answer: C

o Watch Video Solution

2.To evaluate /cosec5xd93 we put

A.cotx=z

B. cosecx cot x=z


https://dl.doubtnut.com/l/_alZSKXoOjUFa
https://dl.doubtnut.com/l/_bI9VEEPcUJwH

C.cotx=z

D. none of these

Answer: D

o Watch Video Solution

3.To evaluate /sin4 x cos® zdx we put

A.sinx=z
B.cosx =z
C.tanx=z

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bI9VEEPcUJwH
https://dl.doubtnut.com/l/_eV4Eh2ydj85H
https://dl.doubtnut.com/l/_WxmtAzfGDEC4

11

5
4. Evaluate: /sm_ 3 T cos3 xdx

A.(m +n ) is a negative integer
B.(m + n ) is a negative even integer
C.(m + n) is a negative integer

D.(m + n) is a positive even integer

Answer: B

o Watch Video Solution

5.To evaluate /2055 xdx we put

A.cos xX=z
B.sinx=2z

C.secx=1z


https://dl.doubtnut.com/l/_WxmtAzfGDEC4
https://dl.doubtnut.com/l/_AMebA1dB8diF

D.tanx=z

Answer: B

o Watch Video Solution

6. Evaluate /:an?’ zdx

1
A Eta,n2 x + log|secx| + ¢
B.tan? z — log|secz| + ¢
C. §tan2 x — log|secx| + ¢

D. Eta,n2 x — log|cosz| + ¢

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AMebA1dB8diF
https://dl.doubtnut.com/l/_WV9Aa4wZgKLS

7. The value of /sin2 x cos® zdzx is

A 1 3 1 5 +
.gCOS T ECOS Z Cc

1 5 1 3
B. —cos az—gcos T +c

5
C. lsin?’ T — lsin‘r’ x+c
3 5
D. lsin5 x — lsin3 x+c
5 3
Answer: C

o Watch Video Solution

8. The value of /(:osec4a:da: is-

1
A.—cotx + §c0t3:c +c

1
B.cot x + gcotg'm +c

1 3
C.cotxz — §cot r+c


https://dl.doubtnut.com/l/_wrtWXCHbBceK
https://dl.doubtnut.com/l/_HaLHUap74cFU

1
D. — (cotx + gcot3 :B) +c

Answer: D

o Watch Video Solution

9. The value of f;os?’ zdz is

1
A. gsm3 T —sinx + ¢
. .. 3
B.sinz — —sin°x + ¢
C.cosx — gcosgw +c
1 3
D. gcos r—cosx +c¢
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HaLHUap74cFU
https://dl.doubtnut.com/l/_Bng2sV2yrmxC

10. The value of /sin3 (%)dm is

A gcosg’% — 2cos% +c

B.2cos; — gcos?’% +c

C. lcos£ — lcos?’E +c
2 2 6 2

D. lcos?’z — lcos£ +c

6 2 2 2

Answer: A

° Watch Video Solution

Very Short Answer Type Questions
1. /3055 xdz

o Watch Video Solution



https://dl.doubtnut.com/l/_YSn2I3GAy5Z4
https://dl.doubtnut.com/l/_OTdk2tQh4Lt8
https://dl.doubtnut.com/l/_9FlchKpyIOJu

2. /sin3 rzdx

° Watch Video Solution

3. Evaluate the following integrals :

/cos4 xdx

° Watch Video Solution

4, /sin2 x cos? zdx

° Watch Video Solution

. 5£
5./51n 2da:

o Watch Video Solution



https://dl.doubtnut.com/l/_9FlchKpyIOJu
https://dl.doubtnut.com/l/_kQgc6VJvrjww
https://dl.doubtnut.com/l/_XoP0bj4VSG8n
https://dl.doubtnut.com/l/_kTQnTZ7pDiKe
https://dl.doubtnut.com/l/_WNDZUWCc0Nbb

6. /sin2 x cos® zdx

o Watch Video Solution

7. /sin3 x cos’ zdx

o Watch Video Solution

8. f:os2 z sin® zdz

o Watch Video Solution

9. Evaluate: /sin3 x cos® zdzx

o Watch Video Solution



https://dl.doubtnut.com/l/_WNDZUWCc0Nbb
https://dl.doubtnut.com/l/_YxfpBZkCztRf
https://dl.doubtnut.com/l/_Pf3aupI3LdJr
https://dl.doubtnut.com/l/_jdwRKJZK1Jxq

10. /sm x cos* zdz

o Watch Video Solution

11. Evaluate: /sin3 x cos® zdx

o Watch Video Solution

12. /sin 2z sin® zdz

o Watch Video Solution

Short Answer Type Question

1. /cos 2z. sin® zdx

| o Watch Video Solution


https://dl.doubtnut.com/l/_vlshsopFYzgH
https://dl.doubtnut.com/l/_IqCKUlyS61ig
https://dl.doubtnut.com/l/_sQNrp7tjVYys
https://dl.doubtnut.com/l/_ETa1Jlbr7t1e

2. /w/sin z cos® dz

o Watch Video Solution

/ sin zdzx
3.
cos 2x

o Watch Video Solution

sin? zdz
4, —
cos® ¢

o Watch Video Solution

5 / dx
Vsinzx. cosg T

o Watch Video Solution



https://dl.doubtnut.com/l/_ETa1Jlbr7t1e
https://dl.doubtnut.com/l/_IY5gS0evbwYG
https://dl.doubtnut.com/l/_pXbiSCOsOBJX
https://dl.doubtnut.com/l/_UHLIACUsfODQ
https://dl.doubtnut.com/l/_ROwaGjaiU4K7

2
Ccos” T
6./ : dzx
sin* x

° Watch Video Solution

; / sin’ 6d6
(1 + cos 6)?

o Watch Video Solution

8. /can3 zdr

o Watch Video Solution

0. /:0’54 zdx

o Watch Video Solution



https://dl.doubtnut.com/l/_ROwaGjaiU4K7
https://dl.doubtnut.com/l/_4zm8Vl0BnqhP
https://dl.doubtnut.com/l/_44wQUMnT3I8G
https://dl.doubtnut.com/l/_VmxLrxEilDPk
https://dl.doubtnut.com/l/_grUJaQZKXObv

10. /cot5 zdx

o Watch Video Solution

1. /can6 zdxr

o Watch Video Solution

12. /sec4 rdx

° Watch Video Solution

13. /cosec%da:

o Watch Video Solution



https://dl.doubtnut.com/l/_9Ry1TT3fOIpd
https://dl.doubtnut.com/l/_nWsYBLpyrkZt
https://dl.doubtnut.com/l/_1TinRhFFEQdO
https://dl.doubtnut.com/l/_WEUF2IbVG4OP

14. /sec3 zdx

o Watch Video Solution

15. /cosec5xdac

o Watch Video Solution

16. ﬁ:an2 z sec’ zdx

° Watch Video Solution

17. / O a
cos 2x

o Watch Video Solution



https://dl.doubtnut.com/l/_bkvIvDxLh8A9
https://dl.doubtnut.com/l/_ukYRh3T7DqCF
https://dl.doubtnut.com/l/_rrBzO2dpJKG9
https://dl.doubtnut.com/l/_ITCaKRKGfNbX

4
cot
18. /( , ) dzx
sinx

o Watch Video Solution

19. /sin3 ::da:

COS5 T

o Watch Video Solution

dx
20. 0
sin” x cost x

o Watch Video Solution

dx
2. | ———
/1 + sin 2z

o Watch Video Solution



https://dl.doubtnut.com/l/_Z1OSDZkiHDKI
https://dl.doubtnut.com/l/_XCsHS6pP0gjB
https://dl.doubtnut.com/l/_WlcKvwF3EjrH
https://dl.doubtnut.com/l/_ISoDupV2RhIP
https://dl.doubtnut.com/l/_MXu91OyAOaKA

92, /d_fc
1+ cos?zx

o Watch Video Solution

d
23, / . z
b?2sin“ x + a2 cos? x

° Watch Video Solution

24./ _ dz
2sin”“ ¢ + cos?

o Watch Video Solution

dx
25. Evaluate [———
sinx cos x

o Watch Video Solution



https://dl.doubtnut.com/l/_MXu91OyAOaKA
https://dl.doubtnut.com/l/_7GsEmYkIhcH3
https://dl.doubtnut.com/l/_fU4q67gNRab1
https://dl.doubtnut.com/l/_w4omLAsz7omZ

2. /siflzcda:
sin 3z

o Watch Video Solution

97, / cos xdx
cos 3z

o Watch Video Solution

28, /d_x
5+ 4coszx

o Watch Video Solution

dx
29. /5 + 4sinz

o Watch Video Solution



https://dl.doubtnut.com/l/_69keD4MJVsT9
https://dl.doubtnut.com/l/_NkNcwNQum2lp
https://dl.doubtnut.com/l/_dW3v79aDzisS
https://dl.doubtnut.com/l/_7gBa1r8DFpQd

3Q/ _dz
3+ 2sinxz + cosx

o Watch Video Solution

xdx
33Ax+n@m+n

o Watch Video Solution

(z — 1)dz
32'/(m +2)(z — 3)

o Watch Video Solution

(z — 1)dz
33./
6x2 +x — 1

o Watch Video Solution



https://dl.doubtnut.com/l/_ZHlGCEEk5BNw
https://dl.doubtnut.com/l/_EXjPTM9TeGLH
https://dl.doubtnut.com/l/_UZjLlOMPK2Lq
https://dl.doubtnut.com/l/_gKUhOQ64loms
https://dl.doubtnut.com/l/_5IlLiCCcnvWy

34 /(a: — acjc(cx —b)

° Watch Video Solution

3> /(a: — :;1(2 — b)

° Watch Video Solution

36./ (z + 2)dx

x2 —3x + 2

o Watch Video Solution

2
1
37.Find/ Tt
(z +2)(xz2 + 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_5IlLiCCcnvWy
https://dl.doubtnut.com/l/_2vSwHuF043ou
https://dl.doubtnut.com/l/_dFAMhj6ZcUky
https://dl.doubtnut.com/l/_slShcxuBRKBb

/ (7T + 5)dx
38.
x3 + 222 —x — 2

o Watch Video Solution

. /(a:2 +1)da

z(z?2 — 1)

o Watch Video Solution

x2dr
4°‘/(:c ~ )z —b)(z -0

o Watch Video Solution

(2z + 1)dx
41’/x(x +1)(z +2)

° Watch Video Solution



https://dl.doubtnut.com/l/_JyxZJTUwejC8
https://dl.doubtnut.com/l/_LhLtyqdkTGLZ
https://dl.doubtnut.com/l/_9BprJzPbfYgn
https://dl.doubtnut.com/l/_GhtRSmotmff0
https://dl.doubtnut.com/l/_dBhTc8wac8Ba

42./(:32 — 3) dz

3 — T +6

o Watch Video Solution

. /(3x2 —1)dz

2 — 3x + 2

o Watch Video Solution

° Watch Video Solution

/ z2dz
45,
x2 4+ T + 12

o Watch Video Solution



https://dl.doubtnut.com/l/_dBhTc8wac8Ba
https://dl.doubtnut.com/l/_4r471mYUrMUC
https://dl.doubtnut.com/l/_621Twy4HMWzt
https://dl.doubtnut.com/l/_Asjei3i9GoXd
https://dl.doubtnut.com/l/_87cMRse6bBgF

z3dzx
46./(:3 —a)(z —b)(z — ¢

o Watch Video Solution

/ x3dx
47.
x2 —4x + 3

o Watch Video Solution

Ny
z(z +1)

o Watch Video Solution

49/ da
“J a3 ozt

o Watch Video Solution



https://dl.doubtnut.com/l/_87cMRse6bBgF
https://dl.doubtnut.com/l/_6LRVtzsXT0DW
https://dl.doubtnut.com/l/_mMlMSOhvCzqT
https://dl.doubtnut.com/l/_tj5nwe7WtBWO

soﬂ/%;;%%BE

o Watch Video Solution

x2dz
51.
/(x +1)(z +2)°

° Watch Video Solution

dx

52.Eva|uate:/ > -
x§(14-x3)

o Watch Video Solution

53:/‘dx
r+1

o Watch Video Solution



https://dl.doubtnut.com/l/_Trm1wxJMv3Em
https://dl.doubtnut.com/l/_zhz3HA7QfAp8
https://dl.doubtnut.com/l/_sgw7Z4TevVqb
https://dl.doubtnut.com/l/_UbPUcH08MpNo
https://dl.doubtnut.com/l/_hbLzZgT6JEaL

54. /d_:c
x

o Watch Video Solution

zdx
> /(a; —1)(22 + 4)

o Watch Video Solution

dx
56.
/(az — 1)%(33 + 1)%

o Watch Video Solution

343 2
57./ a:—|—2m—|— dz
(22 4+ 1) (z + 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_hbLzZgT6JEaL
https://dl.doubtnut.com/l/_8HIfGX0ackhk
https://dl.doubtnut.com/l/_fFLFMz1bb03R
https://dl.doubtnut.com/l/_Yctr3cVM6WCo
https://dl.doubtnut.com/l/_uAdLKIsZNuaM

4 X — T
58,/idw
Qe — 4e— %

o Watch Video Solution

Long Answer Type Questions

1. Integrate :

/ sin 2zdzx
sin®z + costzx

° Watch Video Solution

/ sin 2zdz
2. 5
(sinz + cos x)

o Watch Video Solution

3 cos zdx
" I'sinx + cosx


https://dl.doubtnut.com/l/_uAdLKIsZNuaM
https://dl.doubtnut.com/l/_QbhSrxM9CuDK
https://dl.doubtnut.com/l/_pKs2E3i4PqiD
https://dl.doubtnut.com/l/_A6gr9dVVsGGi

° Watch Video Solution

sin zdzx
4. N
sinx + cosx

° Watch Video Solution

5. /d—’”?
3+ sin’z

o Watch Video Solution

6. /\/1 + secxdx

o Watch Video Solution

924
7./coszc+ sinx da

3cosx +4sinz

| o Wiak~hh \tAAA CAliikian


https://dl.doubtnut.com/l/_A6gr9dVVsGGi
https://dl.doubtnut.com/l/_48DtWqVx8KbF
https://dl.doubtnut.com/l/_Z8ruFgyeEmDN
https://dl.doubtnut.com/l/_TiFHDoSLaqRP
https://dl.doubtnut.com/l/_X2IJ9WRwAwhU

L VyvUilll ViVMLY JVIUVLGIVIEE

/ dx
8. —
1 —sin“x

° Watch Video Solution

/ dzx
9,
cos3x —cosx

o Watch Video Solution

cosx — sinx

. \/sin 2z

10 T

° Watch Video Solution

1. /d_w
1+ tanzx

o Watch Video Solution



https://dl.doubtnut.com/l/_X2IJ9WRwAwhU
https://dl.doubtnut.com/l/_pWePNLehN3wx
https://dl.doubtnut.com/l/_YL5PoxAw4SAL
https://dl.doubtnut.com/l/_MKGsmBorRswz
https://dl.doubtnut.com/l/_H8g7r8Fru1vz

tanx
12. /—da:
1+ tanzx

o Watch Video Solution

13/ sinzdzx
| v/1—sinzx

o Watch Video Solution

14./d—x7
(1+02)?

° Watch Video Solution

sinf

4
15. / cos 0 g

o Watch Video Solution



https://dl.doubtnut.com/l/_H8g7r8Fru1vz
https://dl.doubtnut.com/l/_ByWYKdQNwwWS
https://dl.doubtnut.com/l/_LIQQ4tD5KpUq
https://dl.doubtnut.com/l/_0DKyWj4PUHlj
https://dl.doubtnut.com/l/_pIm3orlaHOj8

16 sin® 6d6
. v/cos 0

o Watch Video Solution

8 10
17. /se09 zcosecy xdx

o Watch Video Solution

2
18. /:osecﬁ x cos® zdx

o Watch Video Solution

19.

/ dz 0</ dz (0§a§3)a§£
1 — cosacosz 1 —cosacosz 2 2

o Watch Video Solution



https://dl.doubtnut.com/l/_qSCqwEY6SgKa
https://dl.doubtnut.com/l/_BNwG73pDL1HX
https://dl.doubtnut.com/l/_1ifhfGEmQKGi
https://dl.doubtnut.com/l/_aaa3Mu5pSL82

20. / dz
cosx + cos o

o Watch Video Solution

dz
21.fcl+ (1+2?%)

Z

o Watch Video Solution

dx
22,
/1 — 3

o Watch Video Solution

23./ 9@ i)

x2 4 a2

o Watch Video Solution



https://dl.doubtnut.com/l/_p2E40HZN5WM6
https://dl.doubtnut.com/l/_Xz9G2dvIwRNg
https://dl.doubtnut.com/l/_qBrqjYjPY9EP
https://dl.doubtnut.com/l/_WQpatntqhnnp

z3dz
24. /(.:c T o@ )

o Watch Video Solution

o Watch Video Solution

2
26./ zdx
.’L’2 +a2(:c2 + bZ)

o Watch Video Solution

2
27./mdm
|

o Watch Video Solution



https://dl.doubtnut.com/l/_kYZr1piDR2Qt
https://dl.doubtnut.com/l/_fc51RXCb6i24
https://dl.doubtnut.com/l/_hkc4mufuqPxK
https://dl.doubtnut.com/l/_0HUDJyEfKcji
https://dl.doubtnut.com/l/_RMiCSAIae3cG

3
2&/ x%*?+2 dz
(22 +1)"(z + 1)

o Watch Video Solution

29/ xidz
(22 + a?)(2? + B?)

° Watch Video Solution

30, / cos 6d6O
S

in?0 — 5sin6

o Watch Video Solution

e’dzr
31./
e +er —2

o Watch Video Solution



https://dl.doubtnut.com/l/_RMiCSAIae3cG
https://dl.doubtnut.com/l/_xqHn5NqpTi5l
https://dl.doubtnut.com/l/_I2WyhbpyNOyQ
https://dl.doubtnut.com/l/_Se9hxTECFkbG

3 / cos 6d0
"J (1 —sin6)(2 — sin6)

o Watch Video Solution

rdx

33. Evaluate :/
2rt — 3x2 — 2

o Watch Video Solution

2
34./ z”dx
26 — 523 + 6

° Watch Video Solution

35./(:c2 — 1)dz

xt+ 22 +1

° Watch Video Solution



https://dl.doubtnut.com/l/_KDzcfHk8A5fO
https://dl.doubtnut.com/l/_AVbRxnlEnT9M
https://dl.doubtnut.com/l/_DIX5eBrVdiY0
https://dl.doubtnut.com/l/_m8vqFIhmbETB
https://dl.doubtnut.com/l/_SpVSvk2Zxtul

36. /#

o Watch Video Solution

37. Write True or False

Simplified value of (secf + tan6)(1 — sin#) is cos 6,

o Watch Video Solution

38. /d_w2
e?(e® + 1)

o Watch Video Solution

39,/d_fv
xt+ 1241

o Watch Video Solution



https://dl.doubtnut.com/l/_SpVSvk2Zxtul
https://dl.doubtnut.com/l/_7UEg90kFptgm
https://dl.doubtnut.com/l/_xvoKp8bTVQYl
https://dl.doubtnut.com/l/_zUsjocSSpIgP
https://dl.doubtnut.com/l/_DQR9zw8BlQi4

40. /d_w2
z(a + bz™)

o Watch Video Solution

# /Sin(a: - a,c;:in(m — b)

° Watch Video Solution

42./, dz_
sin2x — sinx

o Watch Video Solution

Multiple Correct Answers Type

\/_7
/\/i+\/_



https://dl.doubtnut.com/l/_DQR9zw8BlQi4
https://dl.doubtnut.com/l/_8hvPd41Lmv4Z
https://dl.doubtnut.com/l/_vuT8ArunUKdR
https://dl.doubtnut.com/l/_ICJjM6dAcHD9

AvI—z(yz—2)—sin"'\z+c
B.vT—a(y/x—2) +sin " /&+c
CyvI—z(yT—2) +cos ' T+ec
D.v/T—z(y/z—2) —cos 'z +c

Answer: A::C

o Watch Video Solution

z./s,””" da
sin4x
1 1 + si 1 1 2sinx
A. —log +s%na: log + V2sin +c
8 1 —sinz 44/2 1— +/2sinz
1 1 — si 1 1+ +/2si
B. —log anx + log V2sinz +c
8 1+ sinx 4./2 1 —+/2sinz
1 1+ sinx 1 1+ +/2sinz
— —log . log | - +c
8 1 —sinz 4,/2 1 — 4/2sinz
1 1+ si 1 1 2 si
— —log —|—s?n:c — —/2log + V2sinz c
8 1—-sinz 4 1—2sinz

Answer: B::C



https://dl.doubtnut.com/l/_ICJjM6dAcHD9
https://dl.doubtnut.com/l/_8xbdciyri2b4

° Watch Video Solution

2 4+ 20
3. if I = / i 2da:,then | equals-
(zsinz + 5cosx)

x
A — - + tanx + ¢
cos z(x sin + 5cos )

T
B. — - +cotx 4+ c
sinz(z sin 4+ 5cos x)

C.(zsinx — 5cosa:)_1sinac + 7Tz +c

s

D. —zsecx(zsinz + 5cosz) | + cot( i :c) +c

Answer: A::D

o Watch Video Solution

t
4./ 7 dz(0 < a < b),

va+beot’z
A /b — asin_l(\/b — asinw) +c


https://dl.doubtnut.com/l/_8xbdciyri2b4
https://dl.doubtnut.com/l/_9JBKu5VEKOHN
https://dl.doubtnut.com/l/_Jlvf3HCn7mOG

e ()

ﬁl (252 oma) +
C.— sinx
b—a

D.sin ! b aa:) +c
Answer: B::C

o Watch Video Solution

5.

if /:os7 zdr = Asin” z + Bsin®z + Csin®z + sinz + k, then —

1
AA=—
7

1
B.A=—
7
C.B=~
-
3

D.B =~
5

Answer: B::D



https://dl.doubtnut.com/l/_Jlvf3HCn7mOG
https://dl.doubtnut.com/l/_qZjm5yzZcvow

o Watch Video Solution

Integer Answer Type

d 1 3
1. if /—J3 = —ta,n_l(—ta,na:> + ¢, then the value of
4+ 5sinz K 2

kis -

o Watch Video Solution

2
x
2. dz
/2m4 —Tx2 — 4

o Watch Video Solution

13
3. if /cosec%a: cos® zdx = k(sinz)? — F(Sinx)

w|~

+ ¢ then the

value of k is -

l o Watch Video Solution


https://dl.doubtnut.com/l/_qZjm5yzZcvow
https://dl.doubtnut.com/l/_fb0UJY9eacBq
https://dl.doubtnut.com/l/_fXD9zyFXWT10
https://dl.doubtnut.com/l/_j0OvjlTEsHhK

+ 2
4, if/ ° dr = Alog|lr — 2| — 3log|z — 1| + 3 then
z? — 3z + 2

the valueof A is-

o Watch Video Solution

d 2e” 41
5. if / - > = xe$+ + klog|l + e~ *| + cthen the
e?(e® + 1) e*(e” +1)

value of k is -

o Watch Video Solution

Comprehension Type

Y e

o Watch Video Solution



https://dl.doubtnut.com/l/_j0OvjlTEsHhK
https://dl.doubtnut.com/l/_V5OdZ6vHilVS
https://dl.doubtnut.com/l/_jYSB0MN2jIUZ
https://dl.doubtnut.com/l/_QkWOc0pUTsXw

Jz

2.
T+ 2

dx

o Watch Video Solution

3/ dx
J(z-1)v2z+3

o Watch Video Solution

4/ dx
VBT a2

o Watch Video Solution

5/ dx
. V2 — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_sDNa878ywZfX
https://dl.doubtnut.com/l/_PYpISnXYjCOs
https://dl.doubtnut.com/l/_1tZWwfJqb3eH
https://dl.doubtnut.com/l/_hneissHk3k1f
https://dl.doubtnut.com/l/_vGfYXOayYUDJ

6/ dx
V3 42

° Watch Video Solution



https://dl.doubtnut.com/l/_vGfYXOayYUDJ

